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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 TOURISM ADMINISTRATION AND MANAGEMENT QUESTION PAPER

Note :  This paper contains seventy five (75) objective type questions of two (2) marks cach. All
questions are compulsory.
1. In1975, Doxey developed the "Index of Tourist Irritation” by studying the responses of residents

of :
(1)  Both Caribbean and Canada (2)  Both Canada and Croatia
(3)  Cyprus only (4) Croalia only

This sociological phenomenon is of anthropological concern in tourism with its homogenization
of cultures throughout the world, and a loss of uniqueness for destinations. Tdentify the term
used for above phenomenon from the following :

(1)  Commodiflication (2)  Authenticily

(3)  Mc Donaldization (4) lrridex Index

They demand authentic but higher standard accommodation, travel for shorler periods and
have higher daily expenditures. These are characteristics of -

(1)  Flashpackers (2)  Mass Backpackers

(3) Tlard-core Backpackers (4) Grey packers

Which of the following is a certilication programme originally developed by World Travel
and T'ourism Council, with the aim of assisting organisations in the tourism industry to achieve
sustainable Tourism ?

(1) Green Globe (2)  Green Key

(3)  Green Flag International (4)  Green Seal

Match the items mn List-1 with items in List-II and select the correct answer using the code
given below the list

List-1 List-1I
(Tourism Organisations) (Headquarters)

(a) International Congress and Convention (1)  Greater Paris, France
Association

(b}  International Union for the Conservation (i)  Amsterdam, Netherlands
of Nature

(¢)  International Hotels and Restaurant (ii1)  Gland, Switzerland
Association

(d)  International Council for monuments (iv) Lausanne, Switzerland
and Sites

Code :
(a) (b) (e} (d)

(1) () (v) (1) ()

(2) () () (dv) ()

(3) (1) (v) () ()

4) () () ) (iv)
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How many cultural sites are there in UNESCO's World Heritage Sites in India ?
(L) 32 (2) 28 (3) 7 (4) 46

This fair is based on the legend of Draupadi’s Swavamvara and is a celebration of folk-
dance, music, costumes and is centred around voung tribal men and women secking marriage
partners. 1t is:

(1)  Ambulbast Fair (2)  Tarnctar Fair

(3) Kolavat Fair (4) Chandrabhaga Mcla

Name the place where the holy river Narmada has its origin -
(1)  Amarkantak (2) Bastar (3)  Bedaghat (4) Omkareshwar

Match the List - I with List - IT relating to {olk dances and slate :

List - I List - I
(Folk Dance) (State)
(a) Jatra (i)  West Bengal
(b) Giddha (i)  Maharashtra
(c)  Bihu (111) Punjab
(d) Lavani (iv) Assam

Choose your answer from the code given below :
Code :

(@) (b)
(i) (i)

(

(

(c)

(iv) |
(i) (i) () (i
(i (@ ()
() vy @

ii1)

i)

e e
[ —

N
T T

In the question given below there are two statements, one labelled as Assertion (A) and the

other labelled as the Reason (R).

Assertion (A) : A development that has been turned out to be a severe problem for many
coaslal-marine areas in the last decade is the increase in cruise ship tourism
as the cruise ship business is the segment that grown most rapidly during
the last decade.

Reason (R) : The increased popularity of cruise ships has also adversely atfected the
marine environment, carrving up to 4,000 passengers and crew, these
cnormous floating town are a major source of marine pollution through the
dumping of garbage and untreated sewage at sea and the release of other
shipping related pollutants.

In the context of these statements, which of the following is correct ?

(1)  Both (A) and (R) are individually true and (R) is the correct explanation of {A).

Both (&) and (R) are individually true, but (R) is not the correct explanation of (A).

(AJ 1s true, but (R) is falsc.

(A) is lalse, but (R) is true.

y e e
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Match items in List-1 representing ‘National Park” with items in List-II representing the
counlry in which they are located :

List-I List-11

(National Park) (Country)
(a) Maasai Mara National Reserve (i)  Kenva
(b)  Pittier National Park (i)  Venezuela
(¢)  Fora Land National Park (1)  Australia
(d})  Roval National Park (iv) Newzealand
Code :

@ () (©

(
) () () ()

) (i) (v) @ (i)
3 oW ) @)
) (m) (W) ()

Name the Buddhist archaeological site belonging to 3" and 4™ century AD, excavaled in
1960, that has been submerged due to construction of dam.

(1) Devni Mori (2) Ratnagiri (3)  Piprahwa (4)  Amravall

Which of the following is the largest and grandest temple at Khajuraho ?
(1) Lakshman Temple (2)  Kandariva Mahadeva Temple

(3)  Chausath-Yogini Temple (4) Chaturbhuj Temple

Malch the items of List-I (Ramsar site in India) with items of List-II {Date/month/Year in
which Designated as a Ramsar site). Scelect the correet code :

List-I List-II
(Ramsar site in India) (Date/vear in which Designated
as a Ramsar site)
(a)  Bhitarkanika Mangroves, Odisha (i)  24'™h Seplember, 2012
(b)  Keoladeo National Park, Rajasthan (i) 19" August, 2002
(c)  Loktak lake, Manipur (iii) 2374 March, 1990
(d) Nalsarovar Bird Sanctuary, Gujaratl  (iv) 15" Oclober, 1981
Code :
@ () (©

———
—

[

Iy iy () (v)
) (O (i) (v) (i)

(

(

—
A

3) () () (i)
4)  (iv) (@) (i)
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Match items in List-I with items in List-II and select the correct answer using the code given
below :

list-1 List-11
(Dish) (Regional Cuisine)
(a) Macher Paturi (1)  Lucknow
(b)  Galawati Kebab (i)  Kerala
(c) Taftan (iify Bengal
(d)  TPaal Paavsam (1v) Kashmir

Code :
(@) (b) ()
) ) () (v)
)i () (@) (i)
3y (m) (1) (1) |
) i) (1) (v)

has been internationally recognised as a symbol of hospitality and a sign of
friendliness, warmth, cheer, graciousness and conviviality.

(1)  Pinecapple (2) Mango (3)  QOrange (4)  Apple

A document necessarily to be maintained by lodging establishmoents to keep a record of all
visitors staving in the unit is known as :

(1) “F form (2)  C form
(3)  Visitors Book (4)  Departure Report

As per guideline of Ministry of Tourism, Govl. of India for classilication/ re-classification of
hotels, hotels shall provide at least one room for differently abled guests. Door
width of the room and bathrooms of such rooms should allow wheel chair ( ) Lo
enter casily.

Choose from the following to [1ll in the blanks.
(1)  Five Star, to be brought by guest

(2)  Five Star, to be made available by hotel
(3)  All Star, to be brought by guest

(4)  All Star, to be made available by hotel

"Trancheur” in hotels is responsible for :

(1) Polt Washing, (2) Carving (3)  Pest Control (4)  Soup Service
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20.  Which one of the following is a feature of Plat du Jour Menu ?
(1)  Each dish is priced separately
(2)  Food offered in plates with extensive Choices
(3)  A’La Carle orders taken
(4) It is usually speciality of the day and chel makes a few special dishes, these are
communicated to the guests as inserts, tent cards, displavs and so on

21.  Malch items in List-I with items in List-II and select the correct answer using the code given

below :
List-I List-11
(Term) (Statement)
(a)  Baize Cloth (i) A preferred fabric for table linen, might be glossy with designs
made from cotton, silk or mixtures
(b)  Damask (i) A quilt [illed with down feathers or synthelic fibres
(¢} Duvet (i)  Tumiya double hem, a procedure of folding sheets or blankets
lie the corners while bed making in hotels
(d) Milre (iv) A coarse woven cloth laid under the table cloth so as to avoid ils
slipping and cover sharp cdges of table
Code
(@) (b) (o (d)
(1) (iv) (i) (i)  (iii)
(2) (v) () () (i)
3) () (v) (i) (i)
(4) () (v) () (i)

22, Match items in List-I with items m List-1T and choose the correct answer using code given
below the lists :

List-I List-11
(Airport) (City)
(a)  Biju Patnaik International Airport (i)  DPort Blair
(b)  Veer Savarkar International Airport (i)  Bhubaneswar
(¢} Lal Bahadur Shastri International Airport  (111)  Patna
(d) Jai Parkash Narayan Intermational Airport  (iv) Varanasi
Code :
(@ ®) () (@
(1y (1 () (iv) (il
@

(
(
) ) 6 (@) (v
B ) O @) G
)0 G) )
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Match items in List-I with items in List-II and choose the correct answer using code given
below the lists :
List-I List-II
(Airline) (National Carrier)

(a)  Air Lingus (1)  Spain

(b)  Air Astana (i1) Kazakhstan
(
(

—

(c)  Aiar Baltic
(d)  Tberia

1) Treland
1v) Latvia

(@ (b)) ()
@) @) @ G
(i) (i) (v) (i)
(i) (iv) (@)
(i) @ (@

The founder of MERU cabs 1s -

(1)  Naresh Goyal (2)  Neeraj Gupta

(3)  Bhavish Aggarwal (4)  Warren Avis

For a stretcher paitent, an airline charges for seats.

(1)  one (2) Twao (3} Three (4) Four

Which among, the following is not a UNESCO World Heritage site ?
) Nilgirt Mountain Ratlway

) Chhatrapat: Shivaj Terminus

)} Kalka Shimla Railway

) Charbagh Railway Station

(1
(2
(3
(4

Who is associated with Go Adr, launched in 2005 in India 7
(1) Jehangir Wadia

(2)  Ajav Singh

(3)  Rahul Bhatia and Rakesh Gangwal

(4)  Natrajan Chandrasckaran

Which of the following is not a correct statement regarding Freedoms of Air ?

(1)  Second Freedom @ A carrier may land in another nation for non-traffic-related purposes

(2)  Fourth Freedom @ A carrier may drop off passengers from its own country in anothor
nation,

(3)  Sixth Freedom : A carrier mav carry passengers [rom one state through its home
country to a third state.

(4)  Eight Freedom @ A carrier may operate domestic services in a foreign country with
continuing service to or from one’s own country.
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Indian railways has launched India’s first glass ceiling vistadome coach in 2017 to .
(1)  Experience the scenic Araru valley

(2)  Lxperience Kangra valley

(3)  Experience valley of Flowers

(4)  Experience Dibang valley

Read the following statements and choose vour answer from the code given below :

Assertion (A) : Many International tourism companics and destination markets have
experienced a softening of demand and reduction in average daily
expenditure.

Reason (R) : Tourism markelter in those markets over-forecast and invesl in expansion of
tourism supply side which in turn creates risk and excessive debt.

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) arc truc and (R) is not the correct explanation of (A).
(A) is true but (R) is false.

(A) is false but (R) is true,

When was the 2™ “international conference on Responsible Tourism” held ?

(1) 2002 (2) 2004 (3) 2008 (4) 2010

Read the following statements :

(a) In 1961 Jeena Tours and Travels was integrated with Travel corporation (India) Pvl.
[td. Which grew to become India’s largest travel company under the dynamic
leadership of Katgaras.

(b)  In 2006, TCI changed hands and became a part of Thomas Cook.
Which of the statements given above is/are correct ?

(1) (a) only (2)  (b) only

(3)  Both (a) and (b) (4)  Neither (a) Nor (b)

Which one of the following is not an airline’s GDS 7

(1}  Galileo (2)  World span (3)  Amadeus (4)  Concert
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ST ST SR HeTT o TR Hqcd H YA i Fad el AT HIAT o] |

(b)y = 2006 H 2 H #% =1 Wenlied 95el 71 $IR A% 90" FF 1 U 4T 99 747

S9Ye H ¥ i H KU G 5/T 2

(1)  <heel (a) (2)  HE (b)
(3) (a) 3R (b) T (4) T (a) T (D)

freferfiga & M |1 vatened = S 2 uh 7w g 7

(1) Tifara (2) deed (3) TWATZgH (4)  =HAH
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Match the items in List-I with items in List-1I and select the correct answer using code given
below the lists

List-I List-II
(Tourist Atlractions) (Counlry)
a)  Machu Pichu 1) Italy
eru

( (
(b)  The Pantheon (i1)
(c)  liger's Nest (
( (

i)  Malaysia
)

d)  Petromas Tower iv)  Bhutan
Code :
@) () (@ (@
Q0O ) () ()
@ () 6 @)
@) i) ) @
@ v 0 @) ()

Malch List-I with List-II and select the correct answer using code given below the lists :

List-I List-II

(Currency) (Currency code)
(a)  United Arab Emirates Dirham (1} ZAR
(b)  South African Rand (i) ,ASHE
(c)  Sri Lankan Rupee (uty  AED
(d)  Swiss Franc (rv) LKR
Code :

(@) (b) () (d)
) GO v G
(2) @ @) dv) ()
() G (v @
@) G) ) @) )

Food/Drinks in Restaurants in India are charged GST as per the rate given below :

(a)  Food/Drinks in restaurants not having the facility of air conditioning or central heating
at any time during the vear and not having the licence to serve liquor have 12% GS1
rates applicable

(b)  I'ood/Drinks in restaurant having licence to serve liquor shall have 18% G51 rates
applicable

(¢)  Food/Drinks in the air-conditioned restaurant is a 3 Star or above rated hotel have
28% GS1 rates applicable

(d)  Food/Drinks in outdoor catering have 28% GST rates applicable

Code :

(1)  Both ({a) and (b) arc correct. (2)

(3)  Both (b) and (c) arc correct. (4)

Both (a) and (c) are correct.

Both (a) and (d) are correct.
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Tl - [ o Hal ! T=il - 115 "al § gHled i SR A U T8 e § W& 3w a1 =997 i 7

el - 1 =i - 11

( THET TERET ) (237)
(a) HIF-TTY (i) gzl
(b) & Ao (i) U®
(c) 2FTH TE2 (itf)  HeArE
(d) TZH 6 (iv) Y2
@;\m' :

(a) (b} () (d)
(1) () () (v} (i)
(2) (i) (1 (v} (i1}
(3) (i) (v) ) (@
(4) (iv) (1) (i) (iid)

-,

eIt - 1 Tal & el - 11 o Aal o gafed ® iR 7= U T %z ¥ w8l 3w &1 =599 &1

Tl - 1 T - 11

(H=T) (el &he)
(a) HHEd 3TE UG =1 feteH (i) SEUIR
(b)  Efau] SRl =1 {2 (i) H TE TE
(c) I o =1 €94 (i) TEEl
(d) wTE H (iv) T F AW

@ () (©
Ay i) G )
@ 0 @ @) @
(3) (i) (i 1y - |
@ ) ) )

——
—
<

e
—
—

e

O o T H 9/ gl 9 T 5 E g4 W oS v & vyifa g

(a) @Y 3k SR TRE I 9HF arrEed s19e e Bl = giawr ¥ e vy W ° 9/ v
garell o TeTT 12% GTUWW#WWWWWWWW%

(b) A T TSR O/ w2 Te =67 olgdid &, H |,/ 99 gerel T 18% =it ud 21 2 g |

(c) 5 A A/ IHY Afeer T arel el o Adrhicd Eiell § 5 do1 99 el Oy
28% ST T gl B

(d) I BE-UHE TAT (SSTER HATT) H GieT s17ar JHugrt 9T 28% S UH 2 BT

(1) (@ ) < & @) (o) 3 ) o E
(3)  (b) ¥R (c) < A E (4) (o) R () < FEE
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Which one of the following is not an appropriate marketing strategy in the growth stage of
the Product Life Cycle (PLC) ?

(1)  Market modification (2} Product modification

(3)  Marketing-mix modification (4) Market penetration

Following arc four categories of motivators as suggested by Melntosh, Goeldner and Ritchie
(1995). ldentilv correct order in which they have appeared.

(1)  Physical, cultural, interpersonal, status and prestige
(2)  Interpersonal, cultural, physical, status and prestige
(3)  Cultural, physical, status and prestige, interpersonal
(4)  Physical, interpersonal, cultural, status and prestige

Which of the following statements are correct in respect of United Airline’s advertising
Campaign ?

(a)  “Let's fly together” featured in the year 2010.

(b)  “It's time to fly" featured in the vear 2004,

(¢} “The mainline Airway” featured n the year 2016.

(d)  “Fly the friendly Skies” featured inmitially in the vear 1965 and again in the yvear 2013,
Code :

(1) only (c) 1s correct. (2)  (a), (b) and (d) arc correct.

(3)  Both (b) and (c) are correct. (4)  Both (c) and (d) are correct.

Malch items in List - T with items in the List - II. Use code given below [or selecting the
correct answer.

List -1 List - II
(Service Qualily model) (Developer)
(a)  Missing Service qualily concept (i)  Cronin J.J {(2001)
(by  SLERVQUAL (ii) Parasuraman, Zeithnal and Berry (1988)
(c) SERVPERID (iif) Cronin and Tayvlor (1992)
(d)y  HSOM (iv)  Gronroos (1982)
Code :

(@) (
G (i)
(iv)
(i)
(1) (1v]
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freferigd o ¥ & Seare Sirem-=s (91 Te |i) Jhg =10 | gHted o Wil T8 g 2
(1)  SITSIR SN (2) IR SAENHA
(3) Tooum-fafya sy (4) TR faged

Herdre, Mes Y AR R (1995) g1 R T =R WAkl bl AT i oFafierd &1 59 Fel A
1 Tgdar 1 fogd & =feq gd €

(1) vl wissfas, srasitaas, Taar R ufaser

(2) STaLedfaeh, WEHias, IR, e R 7]

(3) Wi, WG, Taa1 3R Uias], dA-edia

(4) ¥HIRE, statediaas, ieslas, waar sik gfaser

FfaREd 5 9 - ®UF JARLS UILElE o - AfqaH & Ga4 § 969 ¢ 7

(a) 'TIEH Hellg el =Y 2010 H IR gl |

(b) 'Z2H TEH Z TR AW 2004 H AR ge |

-

(c) ‘T HAEmEd A 9N 2016 H STREY G |

(d) v < Yieell TR, 99 1965 H ST AT o1 SR GA: o 2013 H SR oy |

he @
(1) Hae (c) & T (2} (a), (b) 3R () T |
(3)  (b) 3R (c) S TR B | (4)  (c) 3R (d) H |RI 2 |
el - [ & Hal ol Tell - 11 & Aei 9 afad &1 390 fou A< fou 70 e =1 399 i |
gl - 1 T - 1
( T OISR TS ) ( uferareer )

(a) Tofgn wfdy Farfadr i (i)  wIFT SLS(2001)
(b) UH 3 SR 4 U UA (i) TR, SEF ST ST (1988)
(¢) THE AN 9% IR UH (i) I 3R ZeR (1992)
(d) WUWHW (iv) TR (1982)
<hd ;
(@) (b) (o) (d)
(1) @ () (1) (v)
(2)  Qv) @) (i) (1)
(3) (i) (D) dv) (D)
(4) () Gv) @ (1)
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Arrange ftirst four elements out of seven elements within the overall approach to motivations
as pointed oul by Dann (1981). Use the code given below :

(a)  Motivation as fantasy
(b)  Destination pull in response to motivational push
(c)  Motivation as classified approach

(d)  lravel as a response to what is lacking vet desired
(

Match items of List - I with items of List - II. Use code given below.
List -1 List - I1

(Term) (Explanation)

(a)  Sweep stakes (1)  Goods offered either free or at low cost as an incentive to buy

(b)  Premiums (i)  Certificates that offer buyers savings for purchasing spocific
product

(¢} Coupons (1} Consumer is given a chance to win cash or trip

(d)  Samples (iv)  Offers of a trial amount of a product

Code

@ (b) () |
) ) () (v) |

) i) @ ) ()
3 @) (v) @) (
) DR ORI

T'he controllable variables that a company puts together to salisly a target group, is called the

(1) Markeling strategy (2)  Markeling mix
(3)  Strategic planning (4)  Marketing concept

Ix A is the IATA code for which of the following city 7

(1)  Allahabad (2)  Ambala (3)  Aurangabad (4) Agartala
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1981 § 29 gHI Sooiigd, 9cdiegd & T99 giahiv § O1d dwl § § 9gol IR dcdl i Saiied i |
= fau U %2 = AT L

(a) HeTdl o BT H YeHdTE
(b) UIHTRA ok IV Tded i R YA

(c) aiiHd SUMH F TY H Freare

(d) =ifed aeqsti & 9@ F TR o A

ehe :

(1) (a), (b). (c), (d)
(2) (), (b), (a), (d)
(3)  (d), (b), (&), (¢)
(4)  (b), (), (d), (a)

Tt - [ o Hel =l Wal - 11 9 Yaford i | 39 & foll Ji= fou 70 %62 &1 304 i |

el - el - 11
(ug) ( =TT )
(a) TET WHH (i) A F & e diealed 3 50 F:90® 21 9 909 ) a%] 95H
HIA]
(by fufremg iy Tafime Icug %9 % % fou sharstl i g=a =1 UYRRY HT dTe
JHTOTIS
() FITH (ifl) UM o1 Aehg A1 TR-HYT SIa 1 ST GZH BT < 2,
(d) HITH (iv) SoIE i ST o fTU S8t Fo T 9EH |
<hd ;
(@) (b} () (d)
(1) () () (iv) (i)
(2)  (m) (@) () (iv)
(3) () (v) (i) (i)
(4) (v} () (@) (1)

ATeAd THE 1 Qe L & AU Al 99 T A =2 &1 U 91y W@l ¢ 39 &l Sl ©
|

(1)  favur Torifq (2) Ta9uE fHgm

(3) OrHias T (4) ToquA sfarEmrom

IxATefafra A fFg T F fau s v wam 2 22
(1) 3eTRERE (2) S (3) ST SR
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Match items (I'vpe) of List-I with items of List-II (Meaning). Select the correct answer using

code given below,

List-I List-II
(Type of Sampling) (Meaning)

(a)  Simple Random Sampling (1)  Individuals are identified in the initial stage and the
researcher uses the reference to select others on the
basis of similar characteristics.

(b)  Systematic Sampling, (i)  The sample conforms o certain criteria.

(c)  Purposive Sampling, (i1)  Each population element has a known and equal
chance of scloction.

(d)  Snowball Sampling (iv) Every K™ element in the population is sampled,
beginning with a random start of clement in the
range of 1 to K.

@ () (©
B ) )
(v) @) O G
(i) (1v) {ii) (
iy Gi) @)

Malch the items in List - I with those in List - II. Use code given below for selecting the
correct answer :

List - I List - II

(Motivation Theories) (Theorists)
(a) Reinforcement Theory (iy  David McClelland
(b)  Sell-Efficacy Theory (i) Vector Veroom
(c)  Expectancy Theory (ir1)  Albert Bandura
(d)  Theory of Needs (iv) B.F. Skimner
Code :

(@) () () (d
o0 6 @) )
@ 0 @) @) ()
(3)  (v) ) @) ()
@ ) O @) )

Which one of the following 1s not included in the Hospitality Information Systems (HIS) ?
1) Group Information systems
Electronic Mail

2
.

3)  Organizational Information systems
4)

(
(
(
(

Global Positioning svstems
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45. THH T gfagl & 7 ¥ iR il @ gt - 1% wE & g - 11 % Tel ¥ gafed e 2

frfafaa 5 9 =9 91 % 92 T

(a)

()
(c)

(d)

<hd ;

A L
M e M

46, T
i

()
(2)
(3)
(4)

T - 1
( UTaewiT T UehTT )

il =z gideyH

FHeg gfdesq

(e

YA fagei

“rater gfdagsi

@ O (© (@
(1) () (1) (1v)
(v) Gi) () (i)
(i) Gv) () ()
() Gi) @) ()

(if)
(iii)

(iv)

gt - 10
(ared )
SRfEeh =01 H Sfaqd] i U89 i Id] ¢ AT gl
o faummarsa) o ST W 3T & 994 o fau wgd &
ST LT © |

gafeyl fAfy=m Trgue & “4&y 2l g |

TR STTETEAT Oed % 99T & 9 A "uE S1eEl 2

T
[

1 %% =S ° "eal & Agfess IRY & WY YT
Tk STHEA] % Yoo ‘b’ & Feah <l A ] Sl |

- 1% Hal =1 =it - 11 5% 7al | Frlerd L A Tel 3T I o Ty = 9 T %2 7 39

et - 1
( rfagor fagra)
PGS EATy

@ () (© (@
(1) () (1) (1v)
G G) @) i)
(v) G () ()
G) () (i) V)

= -
( ufaureer )

g Hhdiolvs

[s

il U"LJ'

-

deh2l &Y
Gl ERE Ry
.U, T

47, TEAAREd | § &1 AMaeg o997 9giadl (U9 3T uh) § oHel 78 ¢ 7

(1)
(2)
(3)
(4)

g A1 950
SR Hel

HITSHTCH: HIT Tagid

reTee aifeeiT faey
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Who from the following plays the roles of figurehead, Spokes person and negotiator in a
lypical tourism organisations ?

(1) A sales manager (2) A production manager

(3) A product development manager (4) A first-line supervisor

Read the [ollowing statements and choose correct answer from the code given below :

Assertion (A) : Many corporations have developed a code of ethics that all emplovees use
to make decisions.

Reason (R) : l'o many managers make decision with due regard to the impact of such
decisions on others.

Code :

(1)  Both {A) and (R) are truc. (2)  (A) is true but (R) is falsc.

(3)  (A) is false but (R) is true. (4)  Both (A) and (R) are false,

Assertion (A) : Poisson distribution is uniparametric distribution,

Reason (R) : For a poisson distribution mean and variance are equal.

In the context of the two statements, which one of the ffnﬂc_‘nwirg 15 correct 7
(1)  Both (A) and (R) are correct. (2)  Both (A) and (R) are wrong.
(3)  (A) is correct but (R) is wrong.  (4)  (A) is wrong but (R) is correct.

The every day tasks of management include :
(1)  Planning and creativity (2)  Planning and lcading

(3)  Publicity and loss adjustment (4) Plotting and leading

Establishing challenging goals, asking performance improvement and displaving conflidence
hat people will exert high levels of effort are associated with which element of the path-goa
that le will t high levels of effort ted with which ¢l t of the patl I
approach to leadership 7

(1)  Supportive leadership (2)  Parlicipalive leadership

(3)  Transformational leadership (4)  Achievement ortented leadership

Select the statement about business communication that is not true :

(1)  Upward and downward

(2) It takes many forms; oral, print and electronic

(3)  Oneisjudged by professional expertise and not by one’s communication skills in business

(4)  If ome communicates well, one 1s likely to be promoted
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FefeiEd o & fohdeh g 9@, Taerl AR JTdieeR sl JiHeR! 41T ST 6l FeaH1 Had 91 ard)

§7

(1) Hod Tk (2) HERE HISR
(3) Wede SaaIHe TR (4) HE @z HEESE

FfeREd el i 7€ 3R A S0 T8 2 | o9 I &1 F47 HY
AR (A) . o Fai = Hifa wfear fawfaa =t © fager 3w w4t sd=r fofz o % fau

T (R) : SR Ya=eh gEU ot U FAviE o s g 9em 39 R wee e < gu e
e E |

he @

(@) (A) ¥R (R) <HI W S Q) (A)TE F S (R) T S

(3)  (A) TR ® oI (R) HET T () (A) T (R) S e E

afusrer (A) ;. faw fomn wwer yafas foam ¥

= (R) : qferg faaror < fau o 2R fagmnfa suet B |

AT el % wed o frefafma § 9 s wg €2

(1) (A) ¥R (R) ST &I § | (2)  (A) 3R (R) <4 TTEd E |

(3) (A) T ¥ AR (R) o (4)  (A) o ¥ oifeA (R) TR ©

Wa=9 o of9ah 7§ 9fae € -

(1) T7arem SR germsiterd (2) Toaem @R 99 w7
(3) UER - YR 3R g qEEee (4)  3TerE SR A

ATyl e TAsifea =2, s fvaed Gem & forg e &R a7 fagemy <o fo < 3= @ 1
AT U 7T Iged o HE - wed SYH o fRE oo § gafud § 2

(1) HREF g (2) UFERI ~ged
(3)  EUAhRRl A (4) ST - A" Aged

SR FYST o AR T a8 FUF g4 S 98 A6 ©

1) SEH wE sl

2)  UEHE WY ol ¢; HillEeh, U= aen gereite

3) YR H A9 AT YIreR foRival g fehen T € A o e1eh |99 S g
1) fg 37 sefl-wifa FIIW #3242 d1 S9! TS 8 i HqEE §

(
(
(
(
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Arrange the following in order in which they appeared. Use The code given below :
(a)  Theory X and Y

(b)  Howthorne studies

(c)  Behavioural Science Approach

(d)  Organisational Lfficiency

Code :

(1) (), (b), (d), (a) (2) (), (b), ( Jf ()

(3)  (d), (c), (b), (a) (4) (b)), (), (a), (d)

Arrange the following marketing slogans in order of year in which they were launched by
the respective countries for tourism promotion.

(a)  “No leave No life” - Tourism Auslralia
(b)  “100% pure” - Tourism Newyzealand
(c)  “Truly Asia” - Malaysia Tourism

(d)  “Naturally Nepal-Together for Tourism™ - Nepal Tourism

Code
(1) (<) (d), (b). (a) (2)  (d), (c), (b), (a)
(3)  (a), (b), (0), (d) (1) (b), (o), (a), (d)

Assertion (A) ¢ The tourism approach adopted under neoliberal ideology is one that puts
“tourism first” rather than “development first™.

Reason (R) : The “tourism first” approach is not wholly framed by the development and
advancement of the industry with national development as its by product.

In the context of the two statements, which one of the following is correct ?

(1) Both (A) and (R) are truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3} (A) is true but (R) 1s falsc.

(4)  (A)1s false but (R) 1s truc.

A Committee of four members has to be [ormed from among three psychologists, four
cconomists, two enginecrs and one doctor. What 1s the probability that the committee consists
of the doctor and at least one psvchologist ?

(1) 0.6100 (2)  0.3048 (3] 0.6048 (4)  0.9048

Which one of the following method is used for content validity ?
(1)  Regression (2)  Correlation
(3)  Standard deviation (4) Judgemental
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L) L)

(ARG 2kl Jeh Teh2 21 <k ohH | Tord | S <k Toru A= fau 70 e k1 39 Rl |

(a) X SRY THgia (b) =EAH FeFgq
(c) =AFRNEE] fasm surmH (d) HTSTHE &I
che :

(1) (¢), (b), (d), (a) (2)  (a), (b), (c), (d)
(3)  (d), (¢}, (b), (a) (4)  (b), (¢}, (@), (d)

[FEATE T T A =h1 TH2H YedTgT =h TeTd H&I8d g9l gHT ST TehU U o9 =h shH H To7d |

(a) ‘?ﬁ foTel ?ﬁ Ae® ' - A #ATefor]

by  100% FER' - ZEH iR

() gl i’ - et =i

(d) ‘TEIE A9E - TR HR 2’ - U 2T

he @

(1) () (d), (b)), (a) (2)  (d), (). (b), (a)

(3)  (a), (b), (c), (d) (4) (b, (0), (a), (d)

ATYRIT (A) : 79 ICRAET T9aRYN & SAd7d siviispa fmar 7 v gftash  ugel famma '’ &+

ol et FHEA e <l

ek (R) : “qgel wied’ w1 giteam quidA fas SR SErT =i 341d § U (9" & 63
SIS o &9 | 7@l o4 T

+ s

21 FeAl & ggd ° faefafea ¥ 9 =0 91 W ©

(1) (A) 3R (R) I 981 § 991 (R), (A) 1 951 TR 5 |

(2) (A) FIR (R) TFI W&l § T4 (R), (A) 61 ¥l TILHI el ¢ |
(3) (A) Wl g, TG (R) T B |

(4)  (A) TTeAd T, T (R) ¥ET ©

A FARE ], =N AdeNTEE], 21 gsiiail 31 U fafeaas | =) ge=l i 9rafq niad st S
%1 ™ o1d i feadt "oyra € fo wfafa § =89 9 o9 v gaEas 3R ww ot

2 7
(1)  0.6100 (2)  0.3048 (3)  0.6048 (4)  0.9048

frfafad 7 o foa ugfa =1 swam fowg s1gemeis =+ fau fea smr e 2

(1) HIaTAA (2) WREESY
(3) HHH T (4) Tavfamcaes
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Which of the following statements are correct ?
(a)  The Co-variance between the two variables is always positive.
(b)  “Is equal to' is a symmetric relation.

(¢} Since blood pressure of a person depends on age, we need to consider the "Regression
equalion blood pressure on age’.

(d)  The probability of sample space 1s 1 (one).
Code :

(1)  Both (a) and (b) are correct.

(2)  Both () and (d) are correct.

(3)  Both (a) and (d) are correct.

(4)  Both (b) and (¢} are correct.

This consists of two lists and the candidate has to match an item in List-1 type of scale with
an item in the List-IT permissible inferential stalistics. Select the correct answer using the
code given below :

List-I List-II
(Type of scale) (Permissible inferential statistics)
(a)  Nominal scale (1) Fricdman Anova
(b)  Ordinal scale (i)  Binomial test
(¢) Interval scale (1)  Regression
(d) Ratio scale (iv) Coellicienl

Code :

(@ (b) () (d)
(0 @ @) ()
(2) M) () ) (v)
) (v) () G (@
(1) ) (v) ) (1)
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FrefafEd § ¥ s | e W ¢

(a) T = % &9 gg-fadnfa v ST Bl ©

Ll e

(b) '3 THEE 2 ek WU HeY ¥ |

(c) f fordt =rfaa =1 waam 37 W 9T w5 §, 76 39 R iaH e waery | W faEn
T Rl STAAFAT € |

(d) wfagel A=< = "EEEr 1 () T

(1) (a) 3R (b) T W& & |
2)  (c) 3R (d) A T
(3)  (a) IR (d) THI T B

4)  (b) 3R (¢) <A1 T T

T el <) giudl 9 T € 3R Aemfil o welt - 1% Tl (WA & YER) S wEl - 1% 7l
(gma 1qaH fos wifters) & e gafed w3 81 fefafea 9 9 =6 o %5 98 7

el - 1 = - 11
( THeT ST YAt ) ( 3rTHa A foeg witeTent )
(a)  HiehTdsh kel (i) TRIFAESHA TAE
(b) FHHTEF Whal (i) SIS qem
(c) =l Thed (ii) T
(d) I T (iv) o
che :

@ G © @
(1Y (1) (1) (i) (iv)
(2) () (1) i) (v)
@ @ @ @ o
@0 ™ @) 6
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61.

62.

63.

o4.

This consists of two lists and the candidate has to match an item in List-I with an item in the
List-II. Select the correct answer by using the code given below :

List-I
(Type of Direction of
Hypothesis)
(a)  Descriptive Hypothesis

(b)  Relational Hypothesis

(c)  Correlational Hypothesis

(d)  Explanatory [lypothesis

Code :

(@) (b) (o) (d)
(1) (@) G () (iv)
(2) () () (v) (1)
(3) () (@) (v) (i)
(4) (v} (1) (ur) (1)

(i1)

i

List-11
(Tyvpe of stalement of Hypothesis)

Multinational hotels (Variables) are perceived by
foreign tourists (case) to be of better quality than local
hotels.

Brand managers in Thomas Cook (cases) have a
higher than average achicvement motivation.

An increase in family income (IV) leads to an
increase in the percentage of income saved DV for
vacation trip.

Tourists visiting Taj) mahal in Agra give the
destination a more favourable rating than do tourists
in Khajuraho.

Assertion (A) : A bionomial distribution is svmmelrical when p = (0.5

Reason (R) : For a bionomial distribution mean and mode are equal when g = 0.5

In the context of the two statemenls, which one of the following is correct ?

) (A) is correct, but (R) is wrong,
(2)  Both (A) and (R) are correct,
(3} (A) 1s wrong, but (R) is correct.
(4)  Both {A) and (R) are wrong.

The covariance botwoeen two variables is ;

(1)  Strictly Positive
(3)  Always Zero

(2)  Strictly Negative
(4)  Either Positive or Negative or Zero

Capital Budgeling process involves the [ollowing stages :
L

Arrange the stages in their logical sequence, use code given below

(@)
(¢)  Project Planning
(e)  Project Review

Code :

(1) (@), (), ©, (d), (@) O
(3)  (f), (&), (d), (c), (b), (a)

Project Lvaluation

(h)  Project Selection
(d)  Project implementation
(f)  Project Control

2) () @), (b), (@), (), ()
@ W) ©) () @, @), ©
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64.
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A= &1 el € TE 2 AR sl o e - 1 fou wy we & Wi - 1% 5l % we gafed ol

frfafaa 5 ¥ =9 =1 71 w8 gafad g

it - 1
( UTEReUAT o TS9TT oh WeERTT )

gt - 11
(WﬁW%EWWW)

(a)  SUAHR iRl (i) IS grZell = (IR1) fodul weesn (AW )
T greet]  $TSst T ] JAd £ |

(b)  EeIHTHS: THshedH] (i) T Pek (W) o S TR H1 39T H AT
suefe sfyyor gar g |

(c) HE-HIURHE U] (iif) IiEnfieR stmeH 9 ghg (1V) | ¥ 92 & far
Sd 31 S ATell SATHE Srdr o Wiavd o T

(d) =S THsheT (iv) ST H dsTHEel S ellel Ga2eh 35 Tded hl TSR]
o YdZeh] | SATel ST el LA <l ¢ |

E3x

(@ (b)) () (d)

(1) @) @) () (v)

(2) (i) (i) i) ()

(3) @) @) (v) (i)

(4) (iv) (i) (iiD) (i)

MUK (A) :  SEAITaTa faaver wtafas g & 916 p =
@eh (R) : arzATgae faare & fau aea @i trrfwﬁw SR BT § 919 =

S9Y HAl o Hau H EfaiEa § 9 &0 92 ¢ ?

(1) (A) 921 8, AR (R) 7o B

(2)  (A) ¥R () ) S e 2

(3)  (A) e © IR (R) W2 2

(4) (A) 3R (R) S Terd € |

S = o o HE Ta9e FEAfaigd § @ [ T e ?

(1) gorTdl HHRIHS (2)  gUE TERETR

(3) HT YA (4) A A A, A R T 21an v

ISt wste fmi wign o fafafad =2 e 20 €
FEATARGd =RVN 2 dlfcheh ohH § SHATETd i 3R 3T o foQ 1< 10 70 %2 1 3797 Y |

(a) OIS AT (b) O =

(¢) A e (d) A HEtEE

()  IICATSHT HHIET GEERIECIEEIRERED

e

(1) (a), (b), (o), (d), (e), (f) (2} (<) (&), (b, (d), (f), (e)

(3) (f)r (), (d), (¢}, (b), (a) (4 (d), (o) (b), (@), (), (F)
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65.

66.

Match the items in List - I with those in List - I Use the code given below :

List -1 List - II
(T'erms) (Meaning)
(a)  Time Value of M oney (1) The difference between the Value of Money receivable

al present and value of money receivable in fulure.

(b)  Tuture Value of Money (if)  Aggregale value of money at present and interest.
(c)  Present Value of Money (i)  Today’s value of tomorrow’s money.
(d) Llfective Rate of Interest  (iv) Rate al which monev held at present actually

mcreasable 1 future.

Code :

Which of the following statements are correct ?
(a)  Financial Risk 1s associated with capital structure decision.

(b)  EPS increases when the financial Break Even point s less.

(c)  Operating leverage 1s calculated by dividing the contribution by EBT.

(d)  Financial Leverage is calculated by dividing EBT by EBIT.

(e} Trading an Equity 1s used to decrease EPS.

Code :

(1)  Both {a) and (b) arc correct. (2)  Both (c) and (d) are correct.

(3)  Both (d) and (¢} are correct. (4)  Both (¢} and (¢} are correct.
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65. T - [ % Hal  Tell - 11 & "el § Gl i | 3T ok ToTL A< feu T4 2 &1 3941 |

8

T - ] = - 11
(ug) (234 )
(a) &9 R HHGE Hod (i) IHE ¥ 9E AR ¥4 & Jed SR s § 97 g 9wl

¥ o Hod H ST |

(b) 9 =1 el A (i) FAHA T U9 H FA oA I AT

(c) = aqEE Ho (iii) AT ol e = €T AT A H o

(d) =ATS T UTET 5T (iv) =daE § o e W o aifta & sud awaa § ey &
che :

(@ (b)) () (d)
(1) (v) (i) (1) (1)
(2) () (W) @) (v)
(3) (u) (v) (@) (i)
£) (@O () () (i)

—

66. THATCEd § 9 [ H & Hal 2 |

(a) Todta Sifam st Sy faom @ d@efaa 2

(b) & Toei ek 29 @E< ¥ Bl & a9 3 Ui UH H gig Bl ¢ |

() T o121 % AFEH ol T9ITSa &6 Jae e eh ofads sl T i Sl ¢ |

r ™ ™ -,

(d) R L A e A A Tl o fasa oS i oM % S 2

(c) ZlFE2l H AR 1 I9AFT U1 UH H & & T fohan ST 2 |

Ehﬂ\_d':
(1) (a) S (b) <1 W& 2 | (2) (o) AR (d) S T F |

(3)  (d) R (o) 3 T F () (¢) 3T () 3 Wl E
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67.

63.

69.

Match the methods of inventory valuation in List-I with their explanation in List-II and
select the correct answer using the code given below :

list-I List-11
(Methods of Inventory valuation) (Explanation)
(a)  Firstin First out (FiFo) (1)  Usc of inventory is valued on the basis of

inverse sequence of receipls.
(b) Tastin First out (L.iFo) (1)  Inventory is consumed in chronological order.

(c)  Base Stock price method (iif) The minimum Stock to be always carried is in
the nature of fixed asscts.

(d)  Market price method (iv) Materials are issued at the price at which they
can be replaced.

Financial Leverage is

. Sales ‘of
EBLT EBIT % 100 5 ales (4) _melt

L X 100
BT 2 Sales (%) Debtors

(1)

Sales

Which one of the following in not the assumption of Modigliani and Miller approach to cost
of capital ?

(1)  There is a perfect compelition
(2)  There are Corporate taxes
(3)  Inveslors actl rationally

(4)  All carnings are distributed to the Sharcholders
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67. W= - 11 TqU M0 F= geaisn il Tgiadl =l T - 111 & ¢ 37! sAresll o 912 FHier i 31
1= f5U 7T % W IUL HT =IF F

it - = - 11

( GEIgeHTeR ol Uglaar ) ( SITEATY )

(a) TE T HE 2 (i)  HH R Hodise Wl <k Taaid oA o ST
(TF 3Tk TF 1) [EEUCINIES

(b) TTE 37 BEL 3132 (i) EHT =T HEHHTHR STHN (R S 2 |
(UeT 31w i)

(¢) YR % sAd T (i) Tl TEsfaal & ®9 5 a9 Wik a9 Wl

ST |
(d) ISR FHHd Igia (iv)  HHRAT 6! SH HHd 9 S w1 S g 54 W

% ytaeentug fear 51 9 |

che :

(@) (b} (o) (d)
(1) G @) @ i)
(2) (i) (i

() @ O )
@ 0 @ )

68. Tadg oaisi © -

EBIT EBIL « 100 ) Sales TR
EBT Sales '

_—
2
e

Debtors | Sales

L )

69. TR H © 31 YSil sl W & 9 HiSHeam 3R Her S9RM &1 7r-Hal &) 2 7

(1) ot wfaenfiran el & |

(2) FHINE FLFAE |

(3) THevE =1 slifger A= g ¢

(4) YU F S el S Terfed =t S 7
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70.

Match the forms of dividend in List-I with their features in List-II. Use the code given
below :

List-I List-II
(Forms of Dividend) (Features)
(a) Cash Dividend (1)  Bonus share
(b)y  Stock Dividend (i)  Liquidity
(c)  Bond Dividend (i) Securities
(d)  Property Dividend (iv) Promissory Nole

(@ (b)) (o)
(R (Y R LI
) i) @ (v) (i)
3) (i) () () |
) (v) () (D)

Instructions :  Read the passage below and answer the questions 71 to 75 based on
your understanding of the passage :

Mali is one of the poorest countries gitted with a number of World Heritage sites, cultural
and ceremonial events, as well as music, dance and handicrafl traditions. Guide books describe
Mali as a “Living museum” 90% of tourists visit primarily to come to Dogon Land, which is
a World Heritage site and the Jewel of Malian Tourism. The magic of Dogon country is its in
accessibility, which has protected the authenticity of the culture and the people Ull now,
even though Dogon culture could withstand conturies of pressure from Islamic conquerors.

Neverthless, tourism has proved to be a much more destructive influence in terms of
cultural change, example, the sigui dance ol the masks, which is supposed to be performed
in great secrecy only once every 60 vears. Although the nextauthentic sigui dance 1s scheduled
for 2020, On the contrary, the Dogon people started performing an imitation every day for
tourists. This has resulted in demystifing rituals and fetish carvings, eroding all their meaning
many local people are cven selling off authentic cultural artefacts.

In addition to the erosion of culture and authenticity through increasing access to
tourists, Mali has experienced even greater crises, such as kidnap and damage of political
artefacts due to political coup in 2012 Whereas, the government tried to rebuild the tourism
industry in 2011 and the country’s campaign lo reinstate tourism as a pillar of national GDP
carries cultural dilemma since the tourism sector was Mali's third-bigeest revenue gencerator.

As a blow to Mali's tourism sector, there was a sudden downfall of tourists 10,000 1in
2012. This led to make local people desperate and destitule alter having lost their livelihood
from tourism. Such crises clearly render destinations unsustainable and provoke the tension
between economic and cultural sustainability. This [inally shows negative impacts of lourism
on culture and cconomic dependency on lourism is a common “hazard” in developing
countries, perhaps the only positive outcome of the crisis is that Mali now has the opportunity
to re-think its [uture tourism stralegy.
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70,

r & =

Tt - 1 H fau 70 onaigl o &1 @] it - 11 <7 7 3Teh] ot =5 we1 gferd &1 3w & forn
= fau 7T %2 = AT L
Tl - 1 = - 10

(emsater 3 =) ( fergteremd)
(a) TTRE A9 (1) EIRERIEN
(b) ETh AHIY (i)  qtele
() dfe e (i) Tafrpfefes
(d) T e O R
che :

(@) (b) (o) (d)
(1) @) G () (iv)
(2) () () (iv) (iid)
(3) (i) (@) () (iv)

(

"
(4y  (v) (i) () (1)
IACIT: el TSU T TT=AT9T Shi HIGLTHT Yaieh Uied AR 71 § 75 ek a1 W T gl ohT
3"?1'{7?{

HTelt TEifaes e U H W T 2 9l e fa9a fa0dd T, Qikghias 3R =il q2ael &
1oy | G, oA 3R gEafeey wue ¥ 99 § | Mt § aet o SHifad guges’ 5 w9 H
AT foral T §1 90% 9AZeh Hewl: SR ¢V 1 SN 3% © S [k Ueh (a9 foed 39 3R
AITAd Y424 h1 H&H ohs (975 & | SN < o SlIgg ShileH] THeh! STl H Tl © Toideh Rl
STATfEAl Tk SEel e fasiaret] o Sald o alasig Sl Hehid S9! Yy i 3R 319 T 941
Hrapta eI @ bl JOIoTeRaT ol Tifetd ol gU € |

fiRT off, Fiepfae ufiend= & 95y o wded =1 agd Afs fasaws gaa v Sgerv & fan
HERI 1 T97E 60 Uedieh 60 ANl H oga [ ®9 § A1 21 o1 | AT STTel JHiivres T6E 963 2020
H M9iia 21 38 Tamid SH @l 3 TieHh o fog giafed SHeh Shoiel 963 &Il TRE 3T
&A1 &1 39 UMY e 3k [Erst ST Sg 2M1 1 [@E WH 81 T $IR 3956 9l WiE e
21 T e TIHIE A d YA HiEhiash efshtaal 9t s=- o € |

TSR] S dEd Ugd o IO FEFTaH AR g & &)W % aAfafE et #2012 o
I fdeh TEaTgerZ & 0] JSTAI(ae Shellehiad] o STIa IR Sehi &1fd Sl a2 T=ar i 4
T 921 | STafeh TERR 4 2011 H T24 32N ] YA:7S3T 0 1 WA A1 § 9924 1 T2
ST 2T WY R 'Y O TR W wenfa e dedt v % @l | wissiaw gfawn off wife wied
&1 TTCAT 2T A0 Fer ST T A el 8 T

qTelt o TIe &1 R Ush 9T o aditeh 2012 | =151 =1 e == et 10,000 959
T | Y TIHE AN 9429 I g Jreil STTSiTerehl sl Wi o o] e @71 f0isd 21 T 26 TR
1 ThiaA Teerfadl § e eRaTvia g1 T4 a1 el iR Wienias Tamviiaal & &= q41d 6l FeHl
el | $7=ad: 9% SYIidl © 1o 92 X Wik iash S ST fRar weied = Fahrenas J9re 2isdl §
S faamasiial U § U 9= Y Ean’ ® 1 FerftEd 39 fade 1 TREE 9RnTdS 9o 98 ¥ T
AT 31 STOHT rell T2 Al 9 YAfaER i 1 Aau fHe w7
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Name the geographical region in African continent that Mali situated in :

(1) Last (2)  Wesl (31 North (4)  South

Which is the Jewel of Malian Tourism ?

(1) Sigui Dance (2)  Boubous (3)  Tutu Jara (4)  Dogon Land

When is the next authentic sigui dance scheduled for ?

(1) 2035 (2) 2030 (3) 2025 4) 2020

Which were two reasons that brought down tourist inllow to Mali very drastically in 2012 7
(1) Tack of advertisement and publicity

(2)  Tourists kidnap and political coup

(3)  Tack of community participation

(4) Commeoditization of authentic culture
What is the inference of the passage ?

(1)  Political instability (2)  Socio-cultural crises

(3)  Prescrvation of sacred character (4)  Fconomic and cultural sustamability

-o0)o-



www.prepp.in

7.

22,

74,

74,

75.

STRTR] TR & 39 Yol &3 R A19 dey fsed Ayl g 2

(1) 9 (2) 9fg=™ (3) S% 4)

[ %

aifera Wi 1 g fag P AT ?

(1) faR T (2) e, (3) TV (4)

STTCT YHITes T 900 Fd AT ad © 7
(1) 2035 (2) 2030 (3) 2025 (4)

SR

EMHE ©vg

2020

o A W S FHRO ¢ T L0 2012 § A1 § 3T el 932h] ol 9 5 9 fiRree &1 ?

(1) T SR TER 1S9

(2) TAZa] I TV SR TSI aTIere
(3) HHEM™ YWIERT =i hH]

(4)  THIUR HERTG T FEIRL]

TTRITST oFT 314 3 © 7

(1)  TeHifass st (2)  EMEIfSTR HEeRids Hha
(3)  gfers =i k1 afTerT (4)  eN¥e SR WiEHden HHwoE
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